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Tuftauga 2

43 ‘ 0 ‘ 1,06 [ 0, 107 (R 0,02 01,03 0,04 0,06 0,06 0,08

Z At — | | —1,004 — 1,025 -1,052 —1.105 - —1:213 - —1,321 — 1,431
= B0 = =g |1, 382 1,763 1,565 1,373 1,88 - 1,407 = 1,428 1,449
e2 Ay ] 1,132 — 1165 —1,431 — 1,667 — —2 369 - - 3,114 —iB 8%y
22| BjjCy= —Dy/0s | 0,981 0,581 0,975 0, 968 0,953 — 0,915 - 0,871 0, B20
2 A5, 1 —1,002 —1.478 —1,996 —4.130 — —5,905 —= —0,292 — 13,054
= B0 =G, 1 1,001 1,002 1,005 | 1014 = 1,044 = 1,103 1,173
3 A =T — 1,023 —1,114 b —1,449 — 1,667 —1,885 — 2108 | —2,323 | —2;707
g B i | 1 fi, 9tk l 0,994 0, 104 0,997 1,996 0,994 0,402 .580 0,986
o WM = == i —1,378 — 1,768 ~2 bS8 —a.471 —i4, 419 — H4d2 | — 6,506 | — B,831
S Bl = — D | 0,509 0,994 0,599 0,599 {1,909 0,499 0,598 0,897 0,996
o Nl —1 =1 158 —1 824 —2.734 —4;, 820 —7,242 —9,959 | -—12;948 | —16,19 93,385
= BlGh== — B [ | ()0l 0440 D, 549 0, 49499 0,944 0,939 0,599 0, 0,997
=" | \

= A | —1 — 1.0 —1,161 —1.314 —1,604 —1,880 — 2,149 | — 2415 | — 2681 | —3212
2L | B ==D;e| - 1,014 1,025 1,034 1,052 1,070 1,084 1,106 1,135 1,160
22 | A0y —3 1,081 —1,448 — 1,885 —2,767 — 3,688 — 4862 | = pa9l 6,776 —.9,113
B | Bjty=—Dy/C; 1 0,998 0,407 0,584 0086 0,875 {964 0,951 0,939 0,914
= MG, - — 1181 —1,910 —2 869 —5,013 —7,465 —10,20 —13,216 | —16,47 —23,669
& Byi€y=-=DyCy| 1 1,000 1,000 1,001 1,006 1.014 1,024 1,035 1,047 1,005
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